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stem( [loc], head , linefmt=None, markerfmt=None, basefmt=None,

bottom=0, label=None, use line collection=True,

orientation="vertical’, data=None)
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head
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| inefmt
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markerfmt
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basefmt
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bottom

W float, FTRELHNUE. BNMEAR0. AIESH.
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df=pd.read excel (' AO¥#E .x1sx',' S A0"',index col=0)
fig=plt.figure(figsize=(12,6))
stem(df.index , df['SFREAD (FIAN) '] ,use line collection=True)
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plt.

title ('FERBANA"', fontsize=15)
ylim([128000,142000])
xticks (df. index)

ylabel (' (;iA) ', fontsize=12)
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xlabel (' (4Effy) ', fontsize=12) :i_
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.stem(df.index-0.15,df['BHAD (FA) '],
linefmt='r--',markerfmt='ro'
.stem(df.index+0.15,dE['ZHEADO(FAN) '],
markerfmt='s',use line collection=True)
.legend(['BHAO", "L AD"'],1loc=0, fontsize=15, facecolor="gray')
title("BHEAD | ZHEAD', fontsize=15)

.ylabel (' (iA) ', fontsize=12)
.xlabel (' (Z£4f}) ', fontsize=12)
.Xxticks (df. index)
.ylim([62000,73000])

.show ()
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plt.stem(df.index-0.15,df['BHEAO(FHIA) '],linefmt="r--",
markerfmt='ro',use line collection=True,bottom=66000)
plt.stem(df.index+0.15,df['ZEAL (FGA) '],
markerfmt='s',use line collection=True,bottom=66000)
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.ylabel (' (HA) ', fontsize=12)
plt.
plt.
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.stem (df.index-0.15,df["WEAD(FFAN)'],linefmt="r--",

markerfmt='ro', use line collection=True )
stem(df.index+0.15,df[' M AO(FA) '1,
markerfmt='s',use line collection=True,basefmt='b--")
legend (['WEALD","' 2N AH"'],1loc=0, fontsize=15, facecolor="'gray')
title ("WMEAD | 2N A0’ , fontsize=15)

xticks (df. index)

xlabel (' (ZEfy) ', fontsize=12)
show ()
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plt.stem(df.index, df["#WHWEAL (FAN) '1-a£f[' ZHAD(N) '],

markerfmt='ro’ ,use line collection=True )
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matplotlib.pyplot.stem ()
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